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B.Com. DEGREE EXAMINATION, APRIL 2021 &

Supplementary/Improvement/Arrear Examinations 

Second Semester 

Commerce 

ADVANCED ACCOUNTANCY – II 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define : Noting charges. 

 C»UPn® SÔ¨¥mk Pmhn®. 

2. What is retiring of bills? 

 ^mk K´ÄÖuÀ GßÓõÀ GßÚ? 

3. What is loss of stock? 

 \μUS |mh® GßÓõÀ GßÚ? 

4. What is Average Clause? 

 \μõ\› ¤›Ä GßÓõÀ GßÚ? 

5. Distinguish between Consignment and Sale. 

 AÝ¨¥k ©ØÖ® ÂØ£øÚ Cμsøh²® ÷ÁÖ£kzxP. 
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6. What is Normal loss? 

 C¯À¦ |mh® GßÓõÀ GßÚ? 

7. What is Joint bank account? 

 CønÁ[Q GßÓõÀ GßÚ? 

8. Mention any four features of joint venture? 

 Cøn – ÂøÚ°ß ÷|õUP® |õßQøÚ TÖP. 

9. Mention the limitations of Single entry system. 

 JØøÓ¨ £vÄ •øÓ°ß Áøμ¯øμø¯ TÖ. 

10. Mention the steps in the conversion of single entry to 
double entry. 

 JØøÓ¨ £vøÁ Cμmøh £vÁõP ©õØÖu¼À EÒÍ 
£i{ø»PøÍ TÖP. 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) What is renewal of bill of exchange? Give the 
journal entries in the books of the drawer. 

  ©õØÖa^møh ¦x¨¤zuÀ GßÓõÀ GßÚ?  AuØS›¯ 
£vÄPøÍ Áøμ£Áº HkPÎÀ u¸P. 

Or 

 (b) On Jan. 1 2009, Vinod buys goods from Ramesh 
priced at Rs. 3,000 subject to deduction of 10% trade 
discount. Vinod accepts a bill for four months for the 
amount. On 4th February 2009, Vinod retires his 
acceptance under a rebate of 12% p.a. Journalise the 
above transactions in the books of Vinod and 
Ramesh. 
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  1.1.2009 AßÖ Â÷Úõz Gß÷£õº μ÷©æhª¸¢x  

¹. 3,000 US \μUS Áõ[QÚõº.  μ÷©è 10%  Â¯õ£õμ 
Ámh® AÎzuõº.  Â÷Úõz ÂØ£øÚz öuõøPUS 4 
©õu ©õØÖa ^mk u¢uõº.  4.2.2009 AßÖ Â÷Úõz 

12% uÒÐ£i öPõkzx ©õØÖ® ^møh v¸®£ ö£ØÖU 
öPõshº.  ÷©÷» ö\õßÚ |hÁiUøPPøÍ Â÷Úõz 
©ØÖ® μ÷©æß SÔ¨¦PÎÀ £vÄ ö\´P. 

12. (a) What are the stages followed in submitting the 
claims to the insurance companies? 

  Põ¨¥mk {ÖÁÚzvÀ £n® ÷Põ¸ÁuØPõÚ 
ÁÈ•øÓPÒ ¯õøÁ? 

Or 

 (b) A fire occurred at the premises of a trader on  
31.5.06 destroying a great part of his goods. His 
stock at 1.1.06 was Rs. 60,000. The value of stock 
salvaged was Rs. 13,500. The Gross profit on sales 
was 30% and sales amounted to Rs. 1,53,000 from 
January to date of fire, while for the same period 
the purchases amounted to Rs. 1,03,500. Prepare a 
statement of claim. 

  J¸ Â¯õ£õ›°ß PmihzvÀ 31.5.06–CÀ w Â£zx 
HØ£mk, AÁ¸øh¯ ö£¸®£Sv¯õÚ ö£õmPÒ 
÷\u©øh¢uÚ.   1.1.06À AÁ¸øh¯ \μUQ¸¨¦  
¹. 60,000 w°À ÷\u©øh¯õu \μUQß ©v¨¦ ¹. 

13,500.  ö©õzu »õ£ ÂQu® ÂØ£øÚ°À 30% ©ØÖ® 
áÚÁ› •uÀ Â£zx |õÒ Áøμ ÂØ£øÚ ¹. 1,53,000, 
A÷u Põ»zvØPõÚ öPõÒ•uÀ ¹. 1,03,500.  
Põ¨¥mkU ÷Põ›UøP ©Ý u¯õ›UP. 

13. (a) What are the differences between consignment and 
joint venture? 

  AÝ¨¥miØS®, Cøn ÂøÚUS® EÒÍ 
÷ÁÖ£õkPÒ ¯õøÁ? 

Or 



A–9960 

  

  4

 (b) Balan of Bangalore consigned 190 bags of rice to 
Rajesh of Calcutta invoicing goods at Rs. 180 per 
bag. Balan paid Rs. 1,200 as cartage and other 
expenses. The consignor drew a bill of exchange for 
Rs. 12,000 which was later discounted at Rs. 11,800. 
The consignee rendered an account sales showing 
the following details: 

  100 bags sold at Rs. 240 each on credit 

  90 bags sold at Rs. 230 each for cash  

  Freight and carriage Rs. 2,000  

  Transits Insurance Rs. 1,000  

  Storage and Insurance Rs. 1,000  

  Commission at 5%. 

  The consignee sent a sight draft for the amount due. 

  You are required to prepare in the Books of 
consigner assuming that the consignee incurred a 
bad debt of Rs. 400. 

  ö£[PÑ›¾ÒÍ £õ»ß, öPõÀPzuõÂ¾ÒÍ μõ÷áè 
Gß£Á¸US 190 ‰møhPÒ A›]ø¯ J¸ ‰møh  
¹. 180 Ãu® AÝ¨¥k ö\´uõº.  ÁõhøP ©ØÖ® Cuμ 
ö\»ÄPÐUS ¹. 1,200 £õ»ß ö\¾zvÚõº.  AÝ¨¥k 
ö£ØÓÁº ¹. 12,000US J¸ ©õØÖa^møh GÊvÚõº. 
¤ßÚº AuøÚ ¹. 11,800 Á[Q°À uÒÐ£i ö\´x 
£n® ö£ØÓõº.  ¤ßÁ¸® Â£μ[PÐhß AÝ¨¥k 
ö£Ö|º ÂØ£øÚ PnUQøÚ \©º¤zuõº.  PhÛÀ  
¹. 240 Ãu® 100 ‰møhPÒ ÂØP¨£mhÚ.   

  öμõUPzvØS ¹. 230 Ãu® 90 ‰møhPÒ 
ÂØP¨£mhÚ.  ÁõhøP Pmhn® ¹. 2,000. 

  ÷£õUSÁμzx Põ¨¥k ¹. 1,000. ÷\ª¨¦ ©ØÖ® Põ¨¥k 
Pmhn® ¹. 1,000. 

  PÈÄ 5 \uÃu®.  AÝ¨¥k ö£Ö|º, AÁº 
öPõkUP¨£h ÷Ási¯ öuõøPUS J¸ ÁÚμ 
÷Áõø»ø¯ AÝ¨¤Úõº.  AÝ¨¥k ö£Ö|¸US 
HØ£mh ÁμõUPhß ö\»Ä ¹. 400.  AÝ¨¥k ö\´|º 
HkPÎÀ ÷uøÁ¯õÚ ÷£÷μk PnUSPøÍ GÊxP. 



A–9960 

  

  5

14. (a) What are the differences between joint venture and 
partnership? 

  Cøn ÂøÚUS® Tmhõsø©US ªøh÷¯ EÒÍ 

÷ÁÖ£õkPÒ ¯õx? 

Or 

 (b) ‘X’ and ‘Y’ were partners in a Joint venture, sharing 
profits and losses in the ratio of 3:2. ‘X’ supplied 
goods of the value of Rs. 60,000 and incurred an 
expenditure of Rs. 200. ‘Y’ supplied goods of the 
value of Rs. 5,000 and his expenses amounted  
Rs. 300. ‘Y’ sold all the goods on behalf of the joint 
venture for a sum of Rs. 18,000. ‘Y’ is entitled to a 
commission of 5% on sales and he settled his 
account by sending a bank draft to ‘X’. 

  Pass Journal entries in the books of X and Y.  

  ‘X’ ©ØÖ® ‘Y’ BQ÷¯õº C»õ£ |mh[PøÍ 3:2 GßÓ 
ÂQuzvÀ £Qº¢x öPõÒÐ® CønÂøÚ JßÔß 

TmhõÎPÒ.  ‘X’  ¹. 60,000 ©v¨¦ÒÍ \μUSPøÍ 

AÎzx ¹. 200 ö\»Ä ö\´uõº. ‘Y’ ¹. 5,000 
©v¨¦ÒÍ \μUSPøÍ AÎzuõº. ÷©¾® AÁº ö\´u 
ö\»ÄPÒ ¹.300.  CønÂøÚUPõP AøÚzxa 

\μUSPøÍ²®. ‘Y’ ¹. 18,000US ÂØ£øÚ ö\´uõº.  

ÂØ£øÚ°À 5% PÈÄ ö£Ó ‘Y’  uSv²øh¯Áº.  

uÚx PnUQøÚ •izx J¸ Á[Q Áøμ÷Áõø»ø¯‘X’ 
US AÝ¨¤Úõº. 

  X ©ØÖ® Y ß •uØ SÔ¨÷£mk £vÄPøÍ u¸P. 

15. (a) What are the steps to be taken to convert single 
entry system into double entry system? 

  JØøÓ£vÄ •øÓ°¼¸¢x Cμmøh¨ £vÄ •øÓUS 

©õØÖ® £i{ø»PÒ ¯õøÁ? 

Or 
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 (b) Ramesh commenced business as a Cloth Merchant 
on January 1 2009 with a capital of Rs. 10,000. On 
the same day he purchased furniture for cash 
Rs.3,000. From the following particulars, you are 
asked to prepare a Trading, Profit and Loss account 
for the year ending December 31st, 2009 and a 
Balance Sheet as an that date. He kept his books 
under Single-entry system. Prepare also the Cash 
book, Debtors account and Creditors account. 

  
 Rs.
Sales (inclusive of cash Rs. 7,000) 17,000
Purchases (inclusive for cash 4,000) 15,000
Bad debts written-off 500
Ramesh’ s drawings 1,200
Salaries to staff 2,000
Business expenses 700

  Ramesh took cloth worth Rs. 500 from the shop for 
private use and paid Rs. 200 to his son, but omitted 
to record these transactions in his books. On 31st 
December 2009 his sundry debtors were Rs. 5,200 
and Sundry creditors Rs. 3,600. Stock in trade was 
Rs. 6,500. 

  μ÷©è áÚÁ›, 1, 2009 AßÖ ¹. 10,000 

‰»uÚzxhß xo Â¯õ£õμzøu xÁUQÚõº.  

AßøÓ¯ vÚ® ¹. 3,000 ©v¨¦ÒÍ AøÓP»ßPøÍ 

Áõ[QÚõº.  JØøÓ¨£vÄ •øÓ°À AÁº uÚx 

HkPøÍ £μõ©›zx Á¢uõº.  AÁ¸øh¯ HkPÎ¼¸¢x 

31.12.2009–hß •iÁøh²® Â¯õ£õμ, »õ£ |mh 

PnUS ©ØÖ® C¸¨¦ {ø»U SÔ¨¦ AQ¯ÁØøÓz 

u¯õ›UPÄ®.  Azxhß PhõÚõÎPÒ PnUS, 

PhÜ¢÷uõº PnUS ©ØÖ® öμõUP PnUS 

BQ¯ÁØøÓ²® u¯õ›UP. 
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 Rs.
ÂØ£øÚ (öμõUP ÂØ£øÚ ¹. 7,000) 17,000
öPõÒ•uÀ (öμõUP öPõÒ•uÀ ¹. 

4,000) 

15,000

ÁμõUPhß ÷£õUöPÊv¯x 500
μ÷©æß Gk¨¦PÒ  1,200
FÈ¯º \®£Í® 2,000
Â¯õ£õμa ö\»ÄPÒ  700

   

  μ÷©è ö\õ¢u E£÷¯õPzvØS ¹. 500 ©v¨¦ÒÍ 
xoPøÍ GkzxU öPõshõº.  uÚx ©PÝUS ¹. 200 
öPõkzxÒÍõº.  CøÁ Cμsk® HkPÎÀ 
£v¯¨£hõ©À Âh¨£mkÒÍx, i\®£º 31,2009 À 
PhÚõÎPÒ ¹. 5,200, PhÜ¢÷uõº ¹. 3,600 CÖva 
\μUQ¸¨¦ ¹. 6,500. 

   

 Part C  (3  10 = 30) 

Answer any three questions. 

16. On 1st January Daniel supplied goods of James to the 
value of Rs. 9,000 and settled the account by means of 
three bills of exchange for Rs. 3,000 each due respectively 
after two, three and four months. A week later Daniel 
discounted the first bill with his bank at a discount of  
Rs. 60 he held the other bills.  The first two bills were 
paid at maturity. On the date of maturity of the third one 
James arranged to retire the bill paying Rs. 1,000 in each 
and giving Daniel a fresh bill for four months to cover the 
balance with interest at the rate of 6% per annum. Daniel 
discounted this bill for Rs. 1,920. Set out the journal 
entries in the books of Daniel. 
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 áÚÁ› 1–® ÷uv ÷hÛ¯À ¹. 9,000 ©v¨¤»õÚ \μUSPøÍ 

÷á®ì–US AÝ¨¤Úõº. •øÓ Cμsk, ‰ßÖ ©ØÖ® 

|õßS ©õu[PÎÀ •vºÄøhU Ti¯ ¹. 3,000 UPõÚ ‰ßÖ 

©õØÖa ^mkPÒ öPõkUP¨£mk PnUS •iUP¨£mhx.  J¸ 

ÁõμzvØS ¤ß •uÀ ©õØÖa^møh ¹. 60–US Ámh® ö\´x 

÷hÛ¯À AÁμx Á[Q°À £n® ö£ØÓõº.  ©ØÓ 

©õØÖa^mkPøÍ £n©õUP¨£mhÚ.  ‰ßÓÁõÁx 

©õØÖa^miß •vºÄ |õÎÀ ¹. 1,000 ö\¾zv ‰ßÓõÁx 

©õØÖa^møh v¸®£ ö£ØÖU öPõsk «v öuõøPUS 

BskUS 6%  Ámi Ãu® ÷\ºzx |õßS ©õuzvØS J¸ 

¦v¯ ©õØÖa^møh öPõkzuõº.  ÷hÛ¯À C¢u ©õØÖa^møh 

Ámh® ö\´x ¹. 1,920 ö£ØÓõº.  ÷hÛ¯À Eøh¯ 

¦zuP[PÎÀ SÔ¨÷£mk¨ £vÄPøÍ Põs¤UPÄ®.  

17. Ramu traders have taken out a fire policy of Rs. 2,40,000 
covering its stock-in-trade. A fire occurs on 1st July 2008 
and stock was destroyed with the exception of the value 
of Rs. 62,040 following particulars are available from the 
books of accounts. 

 
Rs. 

 Stock on 1.4.2008   90,000 

 Purchases to the date of fire  3,90,000 

 Sales to the date of fire   2,70,000 

 Commission paid on purchases 2% 

 Carriage paid on purchase  2,400 

 Average gross profit on cost  50% 

 The policy was subject to average clause. Calculate: 

 (a) Total cost of stock. 

 (b) Amount of claim to be made against the insurance 
company. 
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 μõ• i÷μhºì uÚx \μUSPÐUPõP ¹. 2,40,000US w Â£zx 
£õ¼] Gkzuõº.  áüø» 1, 2008 AßÖ w Â£zx 
HØ£mhvÚõÀ ¹. 62,040 ©v¨¤»õÚ \μUSPÒ uÂμ 
«u•ÒÍ \μUSPÒ AøÚzx® ÷\u©øh¢uÚ.  A¢u 
{ÖÁÚzvß HkPÎ¼¸¢x ö£Ó¨£mh ÂÁμ[PÒ Á¸©õÖ  

¹. 

 1.4.2008 AßÖ \μUQ¸¨¦  90,000 

 öPõÒ•uÀ w Â£zx HØ£mh |õÒÁøμ 3,90,000 

 ÂØ£øÚ w Â£zx HØ£mh |õÒÁøμ 2,70,000 

 öPõÒ•uÀ «uõÚ PÈÄ ö\¾zv¯x 2% 

 öPõÒ•uÀ «uõÚ EÒyUST¼ 2,400 

 AhUPÂø» «x \μõ\› ö©õzu C»£õ® 50% 

 Põ¨¥mk £õ¼] \μõ\› \μzx ¤›ÄUSm£mhx: 

 PnUQkP. 

 (A) ö©õzu \μUQß AhUPÂø» 

 (B) Põ¨¥miØPõÚ ÷Põ›UøPz öuõøP PnUQhÄ®. 

18. On 1st July 2005 Balu of Calcutta consigned 50 TV sets 
costing Rs. 2,500 each to Somu of Madurai, invoiced 
proforma at Rs. 3,000 each. The freight and insurance 
amounted to Rs. 2,800. At the same time Balu drew a bill 
on Somu at 3 months for Rs. 75,000 which has been 
discounted with bankers at 5% per annum. The bill was 
duly honoured by Somu on the due date. On 1st October 
2005, Somu sent on account sales showing that 25 sets 
were sold for Rs. 3,100 each and 20 other sets at Rs. 3,000 
and five remained unsold. The expenses at Madurai 
amounted to Rs. 700 on godown rent and advertisements. 
Somu is entitled to a selling commission of 5%. He has 
also sent the balance due by means bank draft. 

 Both the parties close their books of account on 31st 
December 2005 prepare ledger accounts in the books of 
both the parties.  
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 2005 áüø» 1, PÀPõzuõøÁa ÷\º¢u £õ¾, ©xøμø¯a 

÷\º¢u ÷\õ•ÂØS JßÖ ¹. 2,500 AhUPÂø»²ÒÍ 50 

öuõø»UPõm] ö£miPøÍ JÆöÁõßÖ® ¹. 3,000 

Chõ¨¤À AÝ¨¥k ö\´uõº.   \zu®, Põ¨¥mkU Pmhn® 

¹. 2,800.  A÷u \©¯zvÀ £õ¾ ¹. 75,000 UPõÚ 3 ©õu 

Esi¯ø» ÷\õ•Âß ÷©À Áøμ¢uõº.  Aøu Bsk 

JßÖUS 5%  Ãu® Á[Q°À PÈÄ ö\´uõº.  uÁønz 

÷uv¯ßÖ ÷\õ• Esi¯¾US¨ £n® ö\¾zvÚõº. 

 2005 AU÷hõ£º 1À ÷\õ• ÂØ£øÚU PnUPÔUøPø¯ 

AÝ¨¤Úõº. AvÀ ö£mi JßÖ ¹.3,100 Ãu® 25 

ö£miPÐ®, JßÖ ¹. 3,000 Ãu® 20 ö£miPÐ® 

ÂØP¨£mhÚ GßÖ®, 5 ö£miPÒ ÂØP¨£hõ©À 

C¸UQßÓÚ GßÖ® Põmh¨£mi¸¢ux.  ©xøμ°À \μUPøP 

ÁõhøPUS®, ÂÍ®£μ[PÐUS® ¹. 700 ö\»Ä 

ö\´¯¨£mhx.  ÷\õ•ÂØS 5%  ÂØ£øÚz uμS ö£Ó 

E›ø© Esk.  £õUQz öuõøPø¯ Á[Q iμõ¨m ‰»® 

AÝ¨¤Âmhõº. 

 C¸Áõº PnUS HkPøÍ 2005 i\®£º 31À •iUQÓõºPÒ  

CÁ¸øh¯ HkPÎÀ ÷£÷μmkU PnUSøÍz uõ¯›UPÄ®. 

19. ‘D’ and ‘K’ entered into a Joint venture sharing profits 
and losses as 3:2. They opened a Bank A/c. by depositing 
Rs. 40,000 each. ‘D’ purchased 800 kg of an item @ Rs. 60 
per kg and his expenses were Rs. 13,000. ‘K’ purchased a 
second item of 10,000 kg @ Rs. 2.10 per, k.g. and his 
expenses were Rs. 11,000. Expenses were met from 
private sources and purchases were paid from Bank 
Accounts. K sold 600 kg of the first item @ Rs. 100 per kg 
and his selling expenses were Rs. 5,500. D sold 8,000 kg 
the second item @ Rs. 5 per kg and his selling expenses 
were Rs. 6,000. All the sale proceeds were deposited in 
Bank Account and Expenses were met from private 
sources. Write up ledger accounts in the books of venture. 
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 D ©ØÖ® K GßÓ ÂQzvÀ C»õ£® ©ØÖ® |mhzøu ¤›zuÀ 

£i J¸ CønÂøÚø¯ E¸ÁõUQÚõº.  AÁºPÒ ¹. 40,000 

£n® ö\¾zv J¸ Á[Q PnUQøÚ Bμ®¤zuÚº. D 800 

Q÷»õ \μUQøÚ Q÷»õ JßÔØS ¹. 60 Ãu® Áõ[QÚõº.  

AÁ›ß ö\»ÄPÒ ¹. 13,000. K 1000 Q÷»õ Gøh°À 

©ØöÓõ¸ ö£õ¸øÍ Q÷»õ JßÔØS ¹. 2.10 Ãu® 

Áõ[QÚõº.  AÁ›ß ö\»ÄPÒ ¹. 11,000.  ö\»ÂÚ[PÒ 

uÛ¨£mh £nzv¼¸¢x ö\´¯¨£mhx.  öPõÒ•u¾US 

Á[Q PnUQ¼¸¢x £n® ö\¾zu¨£mhx. K •u¼À 

Áõ[Q¯ \μUSPÎÀ 600 Q÷»õøÁ Q÷»õ ¹. 100 Ãu® 

ÂØÓõº.  AÁ›ß ÂØ£øÚa ö\»Ä ¹. 5,500.  CμshõÁuõP 

Áõ[Q¯ ö£õ¸ÎÀ D Q÷»õ ¹. 5 Ãu® 8,000 Q÷»õ 

\μUSPøÍ ÂØÓõº.  AÁ›ß ÂØ£øÚa ö\»Ä ¹. 6,000 

ÂØ£øÚ°ß ‰»® ö£ØÓ £n® Á[Q°À ö\¾zu¨£mhx.  

ö\»ÂÚ[PÒ uÛ¨£mh £nzv¼¸¢x ö\¾zu¨£mhx.  

÷uøÁ¯õÚ ÷£÷μmkU PnUSPøÍ {ÖÁÚzvß HkPÎÀ 

u¯õ›UPÄ®. 

20. Mr. Sundar tells you that his capital on 31 December 

1998 in Rs. 1,40,250 and his capital on 1st January was 

Rs. 1,44,000. He further informs you that during the year 

he gave a loan of Rs. 26,250 to his sister on private 

account and withdrew Rs. 2,250 p.m. for personal use. He 

also used a flat for his personal purpose; the rent of which 

is Rs. 750 p.m. and electricity charges at an average of 

Rs. 75 p.m. were paid from the business account. He also 

sold his 8% Government bond Rs. 15,000 at 2% premium 

and brought that money into the business. Besides this 

there is no other information. You are required to prepare 

a statement of profit. 
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 v¸. _¢uº AÁºPÒ 31.12.1998 AßÖ ¹. 1,40,250 ©ØÖ® 

1.1.1998 AßÖ 1,44,000–•® uÚx •u»õP C¸¢uuõP 

TÖQÓõº.  ÷©¾® AÁº uÚx u[øPUS uÚx ö\õ¢u 

PnUQ¼¸¢x ¹. 26,250 Phß öPõkzuuõPÄ® ©õu©õu®  

¹. 2,250 uÚx ö\õ¢u ö\»ÄUPõP GkzuuõPÄ® 

SÔ¨¤kQÓõº.  ÷©¾® AÁº ©õu® ¹. 750 ÁõhøP 

ö£ÓUTi¯ uß ö\õ¢u PõμnzxUPõP £¯ß£kzv¯÷uõk 

©õu©õu® ¹. 75 öuõÈÀ PnUQ¼¸¢x ªß Pmhn©õP 

ö\¾zxQÓõº.  ÷©¾® AÁº 8% Aμ\õ[P Phß £zvμzøu  

¹. 15,000–US 2% •øÚ©zvÀ ÂØÖ Aøu öuõÈ¾US 

£¯ß£kzxQÓõº.  ÷©ØPõq® ÂÁμ[PøÍ öPõsk, C»õ£ 

AÔUøP u¯õ›UPÄ®.  

 

 
———————— 
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